Potencias de 10 (E)

24+ 1072

5=102

301072

411072

40+ 1072

59102

70+ 1072

40 = 1072

44 =102

521072

Calcule los siguientes cocientes.

291072

211072

83 +1072

38+ 1072

89 +1072

8= 1072

74 =102

721072

72 =102

7102
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Potencias de 10 (E) Respuestas

241072
2.400
5+1072
500
301072
3.000
41+1072
4.100
40102
4.000
591072
5.900
701072
7.000
40 +1072
4.000
44 +1072
4.400
521072
5.200

Calcule los siguientes cocientes.

29+ 1072
2.900
21+1072
2.100
83 +1072
8.300
381072
3.800
89+ 1072
8.900
8§+102
800
741072
7.400
721072
7.200
72+1072
7.200
7+1072
700
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